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Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge Pre-U, and to show
how different levels of candidates’ performance relate to the subject’s curriculum and assessment
objectives.

Cambridge Pre-U is reported in three bands (Distinction, Merit and Pass) each divided into three grades (D1,
D2, D3; M1, M2, M3; P1, P2, P3).

In this booklet a selection of candidate responses has been chosen, to illustrate the middle of each
band (Distinction, Merit and Pass), as well as a few examples of the highest grade D1. Each response is

accompanied by a brief commentary explaining the strengths and weaknesses of the answers.

For ease of reference the following format for each paper of the subject has been adopted:

C Question

)
$
(oo |

)

{

CExample Candidate

Response
CExaminer Comment)

Each question is followed by an extract of the mark scheme used by Examiners. This, in turn, is followed by
examples of marked candidate responses, each with an examiner comment on performance. Comments are
given to indicate where marks were awarded, why marks were lost, and how additional marks could have
been obtained. In this way, it is possible to understand what candidates have done to gain their marks and
what they still have to do to improve their grades.

Teachers are reminded that a full syllabus and other teacher support materials are available on www.cie.org.
uk. For past papers and Examiner Reports please contact CIE on international@cie.org.uk.
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Components at a Glance

Component ComponentTitle Duration Welg/h)t ng Type of Assessment
(]
. Written paper,
;
Paper 1 Business Concepts 2% hours 35 externally set and marked
. . Written paper,
Paper 2 Strategic Decisions 3 hours 40 externally set and marked
P 3 Personal Investigation - 25 3000-3500 word report,
aper 9 internally set and externally marked
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Paper 1
Section 2: Case Study
Answer all questions in this section.
You are advised to spend 1 hour 20 minutes on this section.
WarmiT plc

WarmIT has manufactured gas central heating boilers and radiators in the UK for 35 years. The
demand for central heating systems is seasonal — but not in the way many expect. Most new
central heating systems are fitted in the summer months. The pattern of sales in recent years is

shown in Table A: 5
Year Quarter Sales Revenue 4 — period Moving' Seasonal
£m moving average trend |  variation
average
2006 1 60
2 70 795 10
3 95 73.75 73.125 21.875
4 65 76.25 75 -10
2007 1 65 80 78.125 -13.125
2 80 83.75 81.875 -1.875
3 110 83.75 83.75 26.25 15
4 80 85 84.375 —4.375
2008 1 65 875 86.25 -21.25
2 85 88.75 88.125 -3.125
3 120 90 89.375 30.625
4 85 88.75 89.375 —4.375 20
2009 1 70 86.25 w Y
2 80 83.75 X Z
3 110
4 75
Table A: Moving average analysis of WarmIT’s recent sales. 25
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Reduced profit margins
The 2009 downturn in the UK economy was one of the causes of the declining profitability of
the company. Sales fell but so too did the net profit margin as the company had not made cuts
in overheads to reflect reduced demand. The Chief Executive, Asif Noon, was being pushed by
major shareholders to take quick action to reverse these trends. Asif delegated the HR Director 30
with the task of devising a new structure for the organisation that would cut overheads — mainly
management costs — by up to 25%. Last month, at a Board of Directors meeting, the HR Director
proposed the following changes:
*  Delayer the organisation by removing or re-employing in less significant roles 15 middle
managers — 50% of the total. 35
e  Break up the hierarchical structure to increase delegation at lower levels in each division
of the business — home heating systems, commercial boilers and system installation
department.
o Pass down, to each of these three divisions, authority for their own cost and revenue
budgets. This would help the company identify the major cost and profit centres of the 40
business so management decision making would be better informed.

Increasing competition

The technology behind gas boilers and radiators has not changed radically for years but market
trends, driven by the price of gas, are changing. This is most noticeable in other EU countries like
Germany where renewable energy has a high market share. Some EU based firms are entering 45
the UK market with the latest solar energy and heat pump systems. This poses a long term
threat to WarmIT’s position. At the recent Board meeting the Operations Director proposed a big
increase in the company’s Research and Development budget. ‘This’, he said, ‘should be used

to try to adapt solar power panels to operate with traditional radiators. These panels would not
replace but supplement existing heating systems, possibly cutting fuel bills by 50%. Innovative 50
products will be the only way to survive in a market shocked by oil and gas prices and squeezed

by foreign competitors. Look at the figures | researched from our three potential German rivals.

You can see that, compared to us, R & D seems to be effective.

2009 R & D budget (Euro Number of patented
values converted into £ at innovations 2009 55
31/09/09 exchange rate)

WarmlIT £ 2m 1

EuroHeat £23m 15

EuroSolar £34m 20

Enviroheat £26m 6 60

Table B: Research and development spending and numbers of innovations patented.

Managing changes

Asif wanted to prepare the company for rapid and significant changes in the next few years.

He concluded the Board meeting by saying: ‘We have good staff-manager relationships and

low labour turnover for a manufacturing business. However, we need people with vision and 65
leadership qualities, prepared to accept challenges and come up with new ideas. Yet many of our

staff, although loyal, still see a ‘them and us’ divide and their first allegiance is to the Trade Union

not to the company. Leading and managing change will be my main priority — and that should
satisfy our short-sighted investors!’
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Question 21
(a) Calculate the values for W, X, Y, Z in Table A. [4]

(b) What would be a seasonally adjusted forecasted value for the 2nd quarter of 2010 if the
extrapolated trend value is £84m and the average seasonal variation is — £2.3m? (1]

(c) Briefly assess the value of the moving average technique of sales forecasting to WarmiT. [5]

Mark Scheme

21 (a)

87.5 = (88.75+86.25)/2
85 = (86.25 + 83.75 )/2
—17.5 (70-87.5) OFR
— 5 (80-85) OFR

NI <X =

(Results must have correct sign.)
(b) £81.7m (£84m-£2.3m)

(c) 1 application mark
1 analysis mark
3 evaluation marks

Uses: Helps with forward planning of promotion strategy, workforce planning, resource ordering etc.
One application to this business e.g. boiler sales are seasonal.

BUT: Only based on past results, downturn is occurring — how relevant are these past results?
Changes in gas prices and consumer trends in heating market may render extrapolation from past
results rather pointless.

General Comment

This question tests the candidate’s knowledge of the moving average sales forecasting method. Part (c) gave

the candidates an opportunity to demonstrate an awareness of the limitations of this technique within the
context of the business in the case study.

n www.cie.org.uk/cambridgepreu
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Example Candidate Response — Distinction (D1)
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Examiner Comment

(@) Full marks awarded for correct results.

(b) One mark awarded for correct result.

(c) Full marks (5). This answer contains certain significant features that make it worthy of Distinction level (D1).
The candidate starts by explaining the moving average method of sales forecasting.
The answer quickly refers to the context of the case study by referring to Warmlt's seasonal sales pattern
and there are further references when considering both the rate of change of the company's sales and
the apparent cyclical effect in 2008/2009.
The candidate’s analysis of the difference between seasonal factors and cyclical factors is of a high
standard.
There is very good evaluation of the technique — especially the impact on sales forecasting using this
method of unforeseen external events and the need to consider qualitative factors too.
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Example Candidate Response — Distinction

Na| W= 8375+ 8b.25 -£87.5:m |

,X"-",,, 86Li8375 o%SSnr\ ‘ |
z

Y- 70- a7-,s,j=“£-n;sm . _flesd

2= 80-85=-RSm [

Ub| Forecasted volue = 3y + 2.3= §83Im | D
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Examiner Comment

(@) Full marks for correct results.

(b) No marks for incorrect result.

(c) This answer was brief but contained some relevant points even though there was no definition or
explanation of the moving average method.
There was no direct application to the case although the reference to “oil price spike” could have been
developed, in the context of the business in the case, to gain an application mark. The answer did explain
one use of sales forecasts and was awarded a mark for analysis.
There was an attempt at evaluation and this gained 2 out of 3 marks for this skill. Further marks would
have been gained by clearer application and evaluation of the technique by referring to the results gained
and their potential usefulness in more detail. 3/5 marks

Example Candidate Response — Merit
2\ o | |
a:} W= 7858275 - L
& -

X = 86.25 + 33.7S
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Examiner Comment

(a) Full marks for correct results.

(b) Not attempted.

(c) This very brief answer contained very little understanding. Marks were awarded for some recognition
that it is only effective when markets are stable — and the reference to 2009 downturn which was
mentioned in the case study. To gain further marks this answer needed: Clearer understanding of the
technique; more detailed explanation of how sales forecasts can be used and a more detailed discussion
of the limitations of a technique that is based on past time series data. 2/5 marks
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Example Candidate Response — Pass
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Examiner Comment

(a) Two correct results and two incorrect results.

(b) One mark for correct result.
(c) This is a weak answer as there is no evaluation of the technique. The candidate does not define or

explain the moving average technique. There are two references to the potential uses of sales forecasts
and these were awarded the 1 mark available for analysis. The reference to higher sales in the 3rd
quarter is worthy of an application mark. There is no attempt to judge the limitations of this technique.

2/5 marks
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Question 22

Evaluate the extent to which a substantial increase in R & D spending by WarmIT would ensure its
future competitiveness in the UK heating market.

Mark Scheme

[10]

Knowledge 1 mark | Application 3 marks | Analysis 3 marks Evaluation 3 marks
Level 2 3 marks 3 marks 3 marks
More than one Relevant reasoning | Good judgement
point applied to or theory used to shown of the
case explain answer impact of R and
D spending on
competitiveness
and/or other factors
being important too
Level 1 1 mark 2—-1 marks 2-1 marks 2-1 marks
Some knowledge of | Application of one | Limited reasoning | Limited evaluation
R and D shown point to case e.g. shown of usefulness
use of Table B

R and D is the scientific research and technical development of new products and processes.

e Can lead to USP, patents, ability to raise prices, lower production costs (process innovations) and entry
to new market segments — these should be applied to heating/renewable energies and this business.

e Table B shows some link between R and D spending and patents BUT not for Enviroheat.

e Evaluation could include that R and D does not always lead to inventions, that these may not result
in successful innovative products anyway and that the number of patents is less important than their

significance.

« Other factors affecting competitiveness include exchange rates, labour productivity, material costs.

General Comment

This question tests the candidate’s knowledge of what research and development is and how it can create
opportunities for businesses to achieve product differentiation. In addition, the Table B data shows some
correlation between R and D spending and the number of patented innovations — but this was not perfect,
and candidates were expected to use this as a starting point to evaluate whether R and D spending is
always effective or well spent.
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Example Candidate Response — Distinction (D1)
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Examiner Comment

The first paragraph defines and explains R and D very effectively. There is recognition of a possible
correlation between R and D spending and innovations patented — but the apparent breakdown of this
relationship with one of the businesses is also identified.

The answer analyses, from the data given, that R and D spending involves risk — and suggests, evaluatively,
that increasing spending on R and D will not necessarily ensure success. There is a clear reference to the
potential link between R and D and product differentiation and this is good analysis.

There is frequent evaluation throughout the answer but the conclusion is particularly noteworthy as the
candidate makes a judgement that an alternative strategy to product differentiation could be adopted — that
of cost leadership. 10/10

Example Candidate Response — Distinction
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Examiner Comment

This answer has many of the features expected of a response at Distinction level. Understanding is clearly shown by
the initial definition. Application marks are gained by relevant use of case study information.

The data inTable B is accurately referred to and there is recognition that Warmlt will not be able to match these levels
of R and D spending immediately — this is good evaluation. The funding issue is also discussed in context.

The answer could have been further improved to D2 level by a more detailed analysis of the potential
benefits of differentiated products and the judgement that R and D spending is risky and may prove to be
ineffective — as shown by some data in Table B. 8/10
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Example Candidate Response — Merit

Examiner Comment

This answer is quite brief but it does contain key assessment skills. It would have benefited from a clear
definition and explanation of the R and D process in the first paragraph. Table B is used quite effectively but
the exception of Enviroheat is not discussed.

The potential impact of successful R and D spending is analysed briefly in terms of “new ways"” being more
profitable — although the explanation of this is rather confused. Evaluation is confined to “they may not find
new ways"” but, as the previous answers have indicated, there is scope for considerably more judgement

than this. 6/10
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Example Candidate Response — Pass

Examiner Comment

This answer contains some points worthy of credit but it is not well focused on the business in the case
study. For example, no use was made of the important data contained in Table B. The candidate starts with a
definition — albeit of the R and D department rather than the process, but this is acceptable.

There is very limited application and if Table B had been analysed in detail it would have given the candidate
a good route for evaluative comment too. The case study questions are expected to lead to answers that are
applied to the case study business — not businesses in non-related industries. Candidates are expected to
bring in their own examples when writing the essay answer in Section C of the paper.

Evaluation in this answer is very limited with just some recognition that the cost of R and D spending should
be controlled. 5/10
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Question 23
Assess the value of establishing a budgetary system for each of the three divisions of the company.
(10]
Mark Scheme
K 1 mark AO1 App 3 marks AO2 | An 3 marks AO3 E 3 marks AO4
Level 2 3 marks 3 marks 3 marks
Points made are Relevant reasoning | Good judgement
well applied to case | or theory used to shown of the
explain answer importance and/or
potential limitations
of this budgetary
system
Level 1 1 mark 2-1 marks 2-1 marks 2-1 marks
Some knowledge Some application Limited reasoning | Limited evaluation
of budgeting or of points to case shown of usefulness
benefit of e.g. the creation of
separate divisional
profit centres

e Budgetary system allocates financial targets and plans — allows the use of variance analysis.

* Separate divisions will become profit/contribution centres — allows analysis of best performing divisions.

e Budgets will set targets and this should be motivating and lead to appropriate allocation of resources.

e Variance analysis will allow recognition of main reasons why actual performance varies from budget and
could inform management decisions.

BUT

e How are budgets to be set — with involvement of staff who have to carry them out or by a centralised
system with no involvement?

e They might be set too ambitiously in which case they may demotivate.

* How will overhead costs be allocated to the 3 divisions? Will only direct costs be included in budgets?

e Wil staff be adequately trained in the setting and operation of the budgetary system?

General Comment

This question examines the candidate’s knowledge of budgetary systems, especially those adopting
delegated budgeting. It was expected that answers would be applied to the problems faced by this business
and the analysis of delegated budgeting was expected to be focused on how it might help to address these
problems. Evaluation was likely to be in the form of the limitations of delegated budgeting, applied to this
business.
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Example Candidate Response — Distinction (D1)

23| A by systeae 3 o Mmekhed of alMetaring
 Gr3As 6o dajearmins & Qasuue bhak Covel dogalnege
K‘ fid  hos Gopinimoar (orareehay need €8
| t:’(‘( %%mbmwebmwmm
o:aGMO.&pdwb'Lz o
S«vu,w%a@us %«mMuubn.q:\fW@
\ Wm\Tmb;,«spu&Vg@abudammmeu
¥ UNMWDW ¥ ComumarCiol_ loaitovs V' and
| \‘S’.a%rﬁw Instaacmt d‘qu Qo businms |
Cold creab pastbecmmotey, Qo€ ond Ehecega
5 ch@nmkw&s - Ot Qack
MMp“mwswwWw h%uv
Qo Hucreede of Chhsrs Ond ey hing (¢ loUsinuse dovm,
s WarmdT's Saums MP"’W’“‘“‘&‘“ rf»:p.'dié3
&quwwmw

www.cie.org.uk/cambridgepreu



Cambridge Pre-U Example Candidate Responses

Caxvmd.u\?nﬁa,w:mjndof &WM»M
|t prrtiomts @ reduce Qusis (€3 Labaur st )
0nd bocone Mere SRLeAC | o u
S| S s vays budsetis vond be veny € REChI
9| Ger Worm|T bacavse op o HIQ Direekor Propessd) (¢
A Moy oce sor bBMwsf%<Hum.~t'~mbpu Pl
ddm) &m%w VAU ba alts B Hrante
wa\ww By m@wuawuwdwm
thww o3 ht,oumﬂg
MW“B‘*" Wil Eha lnsriledge of Guaic dapamms
& patz, olgcids Whse @*W“W &y~
dopasfrnenss. & (b bokter @auipped o serebte
W{Qb ky Q-Pmdu:g et 48 (prvc bl
) W-O%Ekwbd AW N
1 ba_ve@vwm,m by elistaking daaﬂéo_w\
A dwwta-\ ot WWIT'SM W,ix b
WWWWdR“s%‘%HK KLD erc
b llatake Uy - conts & eaeh - Wrpacialis Slouing
wmmwwwwmﬂcﬁm
| These Shared ovts AU redus. Ea Qllrey ond
Lereckiveniss on Gmvporny Ee diisuvs .

Podlsr isgue Wit b y PYFiens U hak
| &@WWW&C Senff Bbwtf'sﬁmw
| st cun Fpecd on Kusir WASIEN , Woen|T e
MWWWMWW:M
A bﬁmm&uruww{mhmﬂm [n sm-e
Mays by cMadting o plagd bhe rSpovaibility o

r)

www.cie.org.uk/cambridgepreu



Cambridge Pre-U Example Candidate Responses

a,uﬂm\wdam ) Eds prelam (3 7cmme — hanveator
em\f(%—u«, Bucatts Yo daaisin nobes oitdun
£ | hemmty wit smilady f22) Conghriings onsl
MsfYickesd - S8 may na® be (antakive — Cowzing
Woarm (T bitoltirge ol 0 ha* ose thaw G o Chsy
Culkoa,‘ea,u (MB Portsamare, €hart bodser's
éz" Gz "Vmé"(stu@m QU ettt
SHlly domdbivate @ Brgy Gre Set UnreaAsticale, -
(ov ecampe ammny  ecpecting ﬂe%«az(aam
o hone - heokinu Ssvhens Gspremtrasie kinrsuin G
Crearts a nows SUCCRAN~A pratnct L a. low buokger
b—wrtr—gmn P5 Voon's {lamy ecke, fhas
[ CoUd reduce bhs PTG ot WiVhers, Gno thorfsa
heduce e Sftciency ad conpetiBinm of & (Womn(T.
A‘Ww\ﬁk@ms ey Nt @CCUr path Locek (et
V'W“*N’-%‘ biing inpottes fre <ot divrsion— Uéhw«j
mwwwmw |
| quozpmcnvaww ond dhjohines (et o
(GCan (ovet hregy na? have - Se Vany Odter (ha budges
o =t cw«ficwﬂ.ﬁhww resulting on
s demdhvanion. . :

;\Wswww aondd be Uery
Vohiaeta o WarslT ob bhay caud pecus tha
ézmmwmmmm@bgwwww
| Cerpeciats, @s Gy oe Pacin (o sates (rone G
mwm>%€&=;s~t:éﬁ' oM ETakTng foreeik oo
Cenkras ond 2&ing W“Ww:wzwe/
(2ot benspical - ginng. Ehem (ha Cppordunt, & 9ok
Nd 0 poeeic (ouling dinsions. Howerer onve ot kb

www.cie.org.uk/cambridgepreu



Cambridge Pre-U Example Candidate Responses

Waem| T p(,a( 1 @wﬂf, Mfa.l,u'mﬂt'm) fer oleporvenss
(such o3 1R, oyparabion , RED GG ) roshe Ghon

1| dinsiom, 00 'k WUl bs _houd & WWM
éw M 0ed eshs making the O e eckire o9 /\
WloBle ) ond cnud ageet Buir haking disas | |
by provensiy digmmme 6 edenrbo ik NS
wmbw of meﬁmwsu €k division —
| Ouowsing g Hvaki v, (nefficiency ond theceor
///// . W@&rwhw kKt p3 A3 £3

Examiner Comment

/

This answer starts with an explanation of budgetary systems. There is application to the three departments
referred to in the case study business. The recognition that Warmlt's profits are falling and the usefulness of
being able to identify which departments were contributing most to this is well explained.

The candidate is clearly aware of the motivational benefits and greater budgeting accuracy that could both
result from the budgetary system proposed by the HR Director.

The answer contains effective evaluation too — giving opposing arguments to those that have already been
put forward in favour of the budgetary system. The candidate makes good use of Business and Management
theory regarding motivation, cost and profit centres and there is an effective final conclusion. 10/10

Example Candidate Response — Distinction
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Examiner Comment

This answer demonstrates that the candidate had a good grasp of the principles of budgeting and budgetary
systems. There is less strong application and evaluation compared to answers that reached Distinction D1 level.
The answer starts with a strong definition and the second paragraph is a well explained analaysis of the
potential benefits of budgets and budgetary systems. The third paragraph shows insight but is not applied in
any way.

The final two paragraphs show a mature attempt to link the setting of budgets with the proposal to reduce
management numbers. There was scope for more detailed application of the benefits and limitations of
budgetary systems to WarmIT and for more balance in the answer. 8/10
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Example Candidate Response — Merit
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Examiner Comment

The candidate demonstrates a good understanding of budgeting — although the answer does not start with a
clear definition, which is always the recommended way to commence a response at this level. The potential
benefits and limitations of delegating the budgetary process are well explained — but in isolation to the

business in the case study.

There is weak application only — and this limits the impact that the candidate’s attempt at evaluation has. It
is always more effective to show judgement about a business technique or decision when discussed in the

context of the case study business. 6/10
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Example Candidate Response — Pass
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Examiner Comment

This answer demonstrates a clear understanding of methods of budgeting — zero based and historical based
budgeting, for example. The response is not so well directed towards the issue of a budgetary system for
each of the three divisions and the potential for some delegation in the budgetary system — which was the
focus of the question set.

There is a brief explanation of the problem of allocating costs to individual divisions but this is more of a
cost allocation rather than a budgetary issue. The candidate does recognize the relevance of a divisional
budgetary system in a business that is attempting to cut costs.

The answer could have been improved by further application to the problems faced by this business, a
more detailed explanation of how a divided and delegated budgetary system might offer benefits and the
limitations of this approach. 5/10

Question 24

The company is about to undergo substantial changes. Discuss how the directors of WarmIT might
achieve effective change with the minimum of employee resistance. [10]

Mark Scheme

Knowledge 1 mark Application 3 marks Analysis 3 marks Evaluation 3 marks

Some knowledge of
change management
shown

Some application of
points to case e.g. the
need to prepare long

Limited reasoning
shown

AO1 AO2 AO3 AO4
Level 2 3 marks 3 marks 3 marks
Points made are well | Relevant reasoning Good judgement
applied to case or theory used to shown of the different
explain answer approaches to change
management
Level 1 1 mark 2-1 marks 2—-1 marks 2-1 marks

Limited evaluation of
change management
methods

established staff for
change

» Distinction could be made between managing and leading change — latter much more significant in this
case.

* Need to explain causes of and reasons for change.

*  Explain how people will be affected and what the business intends to do to reduce impact.

* Need to go through Trade Union? Is it a single union business? Can the Trade Union be brought in to
assist in the change process if the long term benefits and consequences of it are explained?

* Need to communicate to all staff that change offers opportunities as well as shorter term threats — and
that failure to change has more definite long term threats.

» Could just introduce changes and do not worry about staff reaction — time to replace some long serving
staff? Chances of industrial action could be remote.

» |s this management team able to lead change? They seemed to be very slow to respond to the economic
downturn.

www.cie.org.uk/cambridgepreu



Cambridge Pre-U Example Candidate Responses

General Comment

This question examines the candidate’s understanding of how substantial change within an organization
can lead to resistance, reducing the chances of it being introduced effectively. The different approaches to
introducing, leading and managing change could then be discussed and evaluated.

Example Candidate Response — Distinction (D1)
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Examiner Comment

This answer has an excellent introduction that indicates that the candidate has really understood the
“management of change” topic in the syllabus. The response is fully rooted in the context of the case study

business.
There is effective use of Business and Management theory and concepts to support the analysis made. The

final two paragraphs demonstrate mature evaluation and a better answer could not be expected of an 18
year old student in the time allocation of around 15 minutes. 10/10

Example Candidate Response — Distinction
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Examiner Comment

This answer begins with an appropriate example of change drawn from the case. The section that explains
the use of Kaizen groups to improve communication to facilitate change is analytical.

There is effective use of the Trade Union references in the case study and some understanding of how

the Trade Union might be involved in the change process. There is some attempt to make a judgement.
However, this answer could have been further improved by a clearer focus on the changes likely to occur
within this business and a discussion of the other ways to introduce and manage change with a judgement
made regarding the “best” approach in this case. 8/10
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Example Candidate Response — Merit
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Examiner Comment

This answer is not very well focused on change management and the ways to overcome resistance to
change. The candidate suggests that motivational techniques should be used and while these may have a
role to play during periods of significant change they are not the “answer” to all HR related problems.
There is some content worthy of credit — for example, the discussion of consultative management style is
both accurate and appropriate.

The answer could have been improved by a clearer focus on the case and the problems of change that the
business is facing. In addition there is scope for much clearer evaluation of the techniques and approaches
that could be adopted to achieve effective change and reduce staff resistance to it. 6/10
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Example Candidate Response — Pass
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Examiner Comment

This very brief answer is poorly applied to the case — the only reference to it being the suggestion that one
division of Warmlt could be used to test the proposed changes.

There is little attempt to discuss the issues involved in the management of change.

The content that is worthy of credit outlined the role of quality circles and “informing them at every stage”
These points could have been further developed and there is considerable scope for further analysis of these
and other points using the theories and concepts of the subject.

There is a brief evaluation that related to the “one division first” suggestion which is appropriate and logically
follows from this suggestion. 5/10
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Section 3: Essay

Answer one question in this section.

You are advised to spend 45 minutes on this section. Relevant references to real world
business examples will be expected.

Mark Scheme

Knowledge 6 marks Application 10 marks | Analysis 12 marks Evaluation 12 marks
AO1 AO2 AO3 AO4
Level 3 10-7 marks 12-8 marks 12-8 marks
Excellent application | Extensive reasoning Extensive judgement
of most points to and use of theory to in answer and
selected businesses | explain arguments conclusion
Level 2 6—4 marks 6—4 marks 7-4 marks 7-4 marks
Good knowledge Points well applied to | Good reasoning/use | Good judgement
shown selected businesses | of theory to explain shown in answer
answer and conclusion or
excellent judgement in
answer or conclusion
Level 1 3-1 marks 3-1 marks 3-1 marks 3-1 marks
Some knowledge Some application of Some reasoning/use | Some judgement
shown points of theory to explain shown in answer or
answer conclusion
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Question 26

Discuss the view that the continued development of emerging economies such as those of China
and India will result in more opportunities than threats for UK based businesses. [40]

Mark Scheme

« OQutline of what is meant by emerging economies and some sense of scale provided.
e Opportunities:
e Inward investment
e Outward investment
e Qutsourcing
e Cheap supplies of imports — helps keep CPI low
* Rapidly growing markets
e Joint ventures
e Threats:
e Cheap labour products make UK goods/services uncompetitive
e Huge demand for commodities drives up prices
e Sovereign funds take over UK companies
* B of P deficit

Judgement:
* Depends on type of industry/product — examples needed
e Ability to respond to change and opportunities

General Comment

Examiners expected candidates to be able to recognize that one feature of globalization has been the growth
of the newly developing or emerging economies such as China and India. The impact of these economies on
UK business takes several forms including: opportunities for outsourcing; opportunities for expansion into
these markets; threats to existing markets from cheaper imports from these countries; increasing levels of
integration with businesses from emerging economies.

The impact on any one business would depend on, for example,: its level of competitiveness; the type of
product it deals in and type of market it operates in.

Some weighing up of the potential threats against potential opportunities would be a good example of
evaluation.
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Example Candidate Response — Distinction (D1)
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Examiner Comment

This is a very comprehensive answer to a very important Business and Management question. The response
contains key features that allow it to gain a Distinction D1 mark.

The candidate starts with a correct explanation of globalization. There are many relevant and appropriate
examples of businesses used to support the answer.

A wide range of factors — both opportunities and threats — is identified and explained. These include the
more obvious, such as Dyson moving production to gain from lower production costs to the less obvious,
the use of sovereign funds from China to invest in or take over UK businesses.

There are examples of evaluation throughout the answer. For example, the likelihood of success for businesses
such as Tesco and Vodafone is discussed in terms of how effective they are at achieving differentiation and the
importance of investing at the right time - “while the economies of China and India are still rapidly growing”
The final conclusion and evaluation is also of a high standard as the candidate attempts to balance and
compare opportunities and threats and makes a judgement that the immediate opportunities outweigh the
potential threats. This is a wide ranging and well balanced answer. 33/40
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Example Candidate Response — Distinction
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Examiner Comment

This has similar strengths as the previous answer but it is less wide ranging in its scope. There was no
discussion of the threats posed by lower import prices from emerging market economies nor was there any
recognition of the rising risk of UK business takeovers by investment funds from these nations.

Examples used are relevant and well explained. It is recommended that candidates always attempt to make
clear references to at least two businesses in their essay answers.

There is good balance in the arguments used — both positive and negative issues are explained. Evaluation is
frequent and of a high standard, especially the references to the different impact on profits between the short
and long run and the attempt to judge between the relative importance of the threats and the opportunities. 30/40
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Use

3

gt prer |

Examiner Comment

This candidate makes a good attempt to apply the points made to actual business examples. The answer is
quite narrowly focused, concentrating mainly on UK businesses operating in emerging market economies.
There is scope to consider the impact of cheap competing products from these nations and the potential for
takeovers from the investment funds controlled by businesses in these economies.

There is an attempt to show judgement when suggesting that the opportunities were long term and

the threats — or, rather, the limitations of operating abroad — were essentially short-term problems. A
consideration of a wider range of issues would have allowed this answer to gain substantially higher marks.
23/40
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Example Candidate Response — Pass
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Examiner Comment

This answer contains some relevant points but it is rather one-sided in its approach, the potential threats
are hardly touched on and there are rather weak references to actual businesses. There is sufficient
understanding of some of the issues to gain marks at Pass standard, however. For example, the references
to lower labour costs, large potential working populations and low barriers to entry.

Examiners expected a wider range of business examples with more detail about the reasons for operating
abroad. The threats of foreign takeovers or increased competition from businesses based in these countries
are not considered so the answer is incomplete and narrowly focused. 19/40
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Question 27

Evaluate the case for and against a UK based manufacturing business relocating its operations to
another country. [40]

Mark Scheme

e Location issues are strategic decisions that must be taken at a senior level and are difficult to reverse.
Case FOR:

e Lower labour costs

* Less restrictive legislation

» Faster expanding overseas markets — better to locate closer to these?

e Cheaper land costs

* Lower corporation tax rates than e.g. Poland and Eire.

Case AGAINST:

e Cost of relocation and upheaval

e Redundancy costs

e Failure of social responsibility — pressure group and consumer reaction to this?

» Charges of potential exploitation of labour or of natural resources of countries with weaker controls
e Balanced judgement required based on recent examples e.g. Dyson, Burberry'’s.

Judgement: Balance of advantages against disadvantages; may depend on type of business and importance
of cost savings against quality or customer service.

General Comment

This question aims to encourage discussion about the impact on a UK business — and its stakeholders — of

a decision to moves some of its operations abroad. There is much scope for using recent relevant industrial
examples. A well developed answer would be likely to consider more than just profits but also assess the
impact on customers (quality of product/service); existing employees (redundancy or relocation); suppliers
(potential loss of contracts) and other stakeholder groups.

The overall case for relocation would depend on the weighing up of a number of factors but good evaluation
would consider that such relocation is a more effective strategy for some businesses than others.
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Example Candidate Response — Distinction
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Examiner Comment

This is a detailed answer displaying the skills expected by examiners from a candidate awarded a Distinction
mark. The main issue that, if it had been addressed, would have brought the answer to D1 level, is the
candidate’s assumption right from the outset that the question was only concerned with outsourcing.

This limits the range of business examples and business decisions that are discussed and evaluated.
Operations abroad could have included taking over an existing foreign company, setting up a factory
overseas (and possibly closing a UK based one) or setting up retailing operations in other countries. 29/40
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Example Candidate Response — Merit
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Examiner Comment

This answer has several features of a response above Merit standard but it was let down by the weak
application to actual business examples. As referred to above, the relevant use of actual business case
studies drawn from the candidate’'s own experience should be a key feature of all essay answers on Paper 1.
This answer displays sound knowledge of a range of issues that UK based firms should consider before
relocating abroad. Some of these are analysed in depth — such as the issues of quality and staff training costs.
Evaluation is relevant and quite effective. It is appropriate that the final paragraph started with the view that
the final decision on whether to relocate depends on many factors, including the firm’s products and size.
The suggestion that the business should undertake research before making the decision is an obvious — but
often overlooked — consideration. 25/40
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Example Candidate Response — Pass
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Examiner Comment

This answer gained just above the mid-level Pass mark. There is recognition of some important issues — such
as labour costs and problems and costs of relocating existing staff (if this were to be attempted).

Application is rather thin — although the Wal-Mart example is not manufacturing (this was allowed by
examiners) the fact is that this is an example of a US based company integrating with a UK based one. The
assertion that labour costs are low in Japan is also questionable.

The analytical reference to Ansoff is relevant but could have been further developed in terms of the degree
of risk involved in this strategy.

Evaluation is limited to the final paragraph. The potential for conflicting interests between customers and
workers is interesting but the overall impact on business success and profitably might also have been
assessed. 20/40
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Question 28

28 ‘The style of leadership and management used within a business has much less impact on its
success than is generally thought to be true.’ Discuss this statement. [40]

Mark Scheme

* Explain management and leadership and distinction between them.
» Explain styles of leadership — give business examples of them in operation.

» Discuss how different leadership styles can have a negative/positive impact on business development
and success — examples needed to support assertions made.

» Other factors that can affect success apart from or despite leadership style must also be discussed
e.g. product innovation, customer service, economic environment, legal environment etc.

e BUT the response of the business to these other factors could also depend on the leadership style
used e.g. a democratic style will encourage new product ideas and reduce resistance to change, both
of which are crucial to success. So perhaps leadership style IS a very important factor in success?
Other interpretations are, of course, possible.

General Comment

The main purpose of this question is to examine the candidate’s ability to discuss the role of leadership

in achieving business success. There is not expected to be a “right” answer to this question. Different
approaches could be taken to consider this issue and the arguments used would depend heavily on the
business examples used. Is leadership style the most important factor determining business success or are
other factors — such as external forces — likely to be more significant? This question gives scope for a wide
ranging discussion but it proves to be much less popular than Q26 and Q27.

Example Candidate Response — Distinction
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Examiner Comment

This candidate adopts a wide ranging approach to answering the question as is demonstrated by the final
sentence in which it is claimed that leadership styles can influence so many aspects of business strategy
and policy. The candidate tends to assume that the reader knows what is meant by “leadership style” and
there is no discussion of different theoretical leadership styles. If this were effectively incorporated into the
answer then higher marks for analysis would be likely.

Good application using three business examples help to support the arguments used by the candidate.
Judgement is evident in several sections of the answer but this could be demonstrated even more
effectively by returning to the original question and assessing clearly what factors determine those situations
in which leadership styles have more (or less) impact on success than is “generally thought” to be the case.
29/40

Example Candidate Response — Pass
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Examiner Comment

This brief answer does contain some relevant points which, if developed further, could have taken the
answer into a higher grade band. There are references to different leadership styles and McGregor's theory
is applied.

Arguments are used to support or deny the central suggestion that leadership styles are less important than
is thought to be the case. But these arguments are rather confused.

The final evaluation, in the final paragraph, is interesting and it would appear from much of what is written
here that Branson's leadership style has been very influential in success — yet this seems to be denied in the
final sentence.

Further examples together with deeper analysis of how leadership can influence motivation levels,
communication methods, decision making methods and strategic direction would have added considerably
to the quality of this answer. 19/40
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Paper 2 Case Study

BT Group (BT)

Introduction

BT Group is a British telecommunications company that was privatised in 1984. It serves
customers in 170 countries around the world. The company has a market capitalisation of £5747m

and is a member of the FT 100 index (largest 100 companies in the UK by market capitalisation).

BT provides many products and services including local, national and international telecoms 5
services and infrastructure such as Internet access, fixed line telephone services and information
technology products and consultancy.

It is February 2009. BT currently commands approximately three-quarters of the UK fixed line
residential telephone market and is also the UK’s most popular broadband Internet provider. To
give some indication of the market penetration of BT, consider that approximately one million 10
businesses rely on the company worldwide and this includes 65% of all FT 100 companies.

BT has 4 key areas of business. These are:

BT Retail (BTR) — this is a major force in the UK communications market. It employs
over 18000 people and has 18.3 million customers. It predominantly serves the UK
household market and offers products such as BT Talk Together and BT Broadband.

BT Wholesale (BTW) — this gives businesses access to BT’s telecoms infrastructure.
It brings economies of scale to over 700 communication companies. This division runs
BT’s networks and provides network services and solutions to other communications
companies. This area of business handles more than 300 million calls every day and
350 million Internet connections every month for more than 600 customers.

BT Openreach (BTO) — this area of the company is responsible for keeping customers
connected to their local telephone exchange. Openreach is not a communications
retailer. It does not deal with residential and business customers. It only deals with
communication providers.

BT Global Services (BTGS) — this division serves companies and government
organisations in the UK and around the world, providing high-performance managed
networked information technology services. It employs around 30000 people in 50
countries and delivers services in nearly 200 countries.

In 2008, lan Livingston the Chief Executive of BT identified three key priorities for the company:

1 Accelerate the focus on customer service.
2 Expand BT’s operations in international markets.
3 Increase the speed at which BT reacts to and anticipates market changes. 15

Challenges facing BT

BT has already announced that it is to reduce its total global workforce from 160000 at the end of
2008 to approximately 150000 or less by mid 2009. The company stated that the job losses were

not a ‘direct result’ of the economic downturn. lan Livingston said that the job cuts were ‘a reflection

of the fact we have to become leaner'. In the UK the unemployment rate has soared to over 20
2 million (6.5%) for the first time since 1997 and some analysts feel it could peak at approximately

3 million people unemployed.
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The reduced labour costs could be seen as part of a broader cost reduction strategy. BT aims

to reduce its costs by approximately 7% by the end of 2009. It plans to do this through labour
force reductions and reduced overtime, improved network reliability, increased automation in fault 25
handling and general overhead savings.

Another area of concern for BT is its pension fund deficit. This currently stands at £2.4bn. The
company is paying in an extra £280m a year to pay off the deficit. In April 2010 the company hopes
to save £100m in pension contributions per year when it adopts radical changes to its final salary
pension scheme. This change will reduce the pension entitlements of 65000 employees. The final 30
salary scheme was closed to new joiners after 2001. In addition to this policy, some employees
will need to make larger pension contributions, and the standard retirement age will rise from 60
to 65 years old. The policy to amend or stop the final salary scheme is not unusual for large UK
companies as these schemes are very expensive. Additionally, the deficit on the pension fund has
been increased by record low interest rates and falling global stock markets. 35

The telecoms market is very competitive and BT faces competition from fast growing rivals such
as BSkyB and the Carphone Warehouse TalkTalk package. It is becoming increasingly popular for
customers to purchase a bundle of products from one provider. This usually includes phone line
rental, broadband, satellite television access and various other products. BT has found it difficult
to penetrate the digital media market with its product called BT Vision. The company is hoping to 40
partially insulate itself from price competition by concentrating on customer service and increased
marketing efforts but the present climate of economic recession is making some customers far
more price sensitive and BT is already engaging in some price discounting. The level of competition
has increased with the proliferation of comparison websites that allow consumers to compare the
price and features of rival providers. 45

In the broadband market BT offers 3 options, ranging from the entry level Option 1 to the premium
Option 3. The different packages represent different download allowances, connection speeds
and additional features such as anti-virus software. This segmentation is also used in the landline
telephone market where 3 differentiated products are also offered.

The worldwide nature of the current economic crisis has particularly hurt BT’s Global Services 50
Division (BTGS). The recent financial results of this division were described as ‘particularly
disappointing’ by the Chief Executive and the head of the BTGS division resigned as a result.
This division has been hindered by the sustained and widespread nature of the current economic
slowdown and a failure to fully implement cost saving measures. Global Services has 17 major
contracts and 2 have performed very badly with major cost overruns. One of the very poor results 55
came from BT’s contract with the National Health Service (NHS) in the UK.

Two profits warnings have been issued by BT in response to the poor performance of BTGS and

this has had a major impact on the share price. Additionally, stock markets in general have been

in decline since the beginning of the sub-prime induced credit crunch. In line with this, a number

of share analysts have re-rated BT shares. Cazenove reported that ‘given current stock market 60
conditions, sentiment towards BT is likely to remain depressed for some time’. Other analysts
have suggested that the BT dividend yield is also under threat. (Dividend per share: 2008: 15.8p,
2007: 15.1p, 2006: 11.9p.)
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Opportunities for BT

The outlook for BT is not all doom and gloom. The performance of the divisions (excluding BTGS) 65
has been ahead of expectations. Indeed the other three divisions delivered the best year-on-year
profit growth for five years.

Additionally, the BT brand was recently awarded a ‘Trusted Brand’ accolade by Reader’s Digest
magazine. BT has the largest market share in the UK fixed line telephone and broadband Internet
markets (broadband market share 35%). The company is winning back customers who had 70
transferred to other companies because BT has become far more price competitive and is seen to
offer a more reliable service with better customer support.
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Figure 1: BT share price in pence (5 years).

BT has also managed to secure a minimum 10% return on its network that is used by competing
telecoms firms. This ruling by Ofcom (the national telecoms regulator) is certainly welcome news
for BT. 75

The company is also committed to implementing its superfast fibre optic broadband in many areas
of the UK. Ofcom considers this a potentially risky strategy requiring large set-up costs and will
allow BT to set its own reasonable rate of return on this product.

The future of this former state owned monopoly seems uncertain. If the company can survive

this major economic downturn it will emerge leaner and more customer focused than at any time 80
in its history. Many challenges still remain and it will be a stern test of the leadership skills of lan
Livingston and his Board of Directors.
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Year Advertising spend £m Sales change
(on previous year)

2006 £56m +8%

2007 £64m +12%

2008 £71m +8%

2009 - -

Table 1: Advertising spend on BT Broadband Option 1

Product Average income | Average income | Estimated change in
2008 2009 (forecast) quantity demanded

BT Broadband £31000 £30320 +3%

Option 1

Table 2: Average gross income of BT Broadband Option 1 customers
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2008 2007
£m £m

Fixed assets
Investments in subsidiary undertakings 10182 10064
Total fixed assets 10182 10064
Current assets
Debtors 996 137
Cash at bank and in hand 16 17
Total current assets 1012 154
Creditors: amounts falling due within one year 184 40
Net current assets 828 114
Total assets less current liabilities 11010 10178
Capital and reserves
Called up share capital 420 432
Share premium account 62 31
Capital redemption reserve 15 2
Treasury shares reserve (1843) (884)
Profit and loss account 12356 10597
Total equity shareholders’ funds 11010 10178

Table 3: Extract from BT Group plc Balance Sheet as at end of financial year 2008

2008 2007
£m £m
Revenue 21011.8 20396.6
Cost of Goods Sold 4633.7 10631.5
Gross Profit 16378.1 9765.1
Overheads 11133.4 4336.7
Depreciation 2888.8 2911.1
Operating Income 2355.9 2517.3

Table 4: Extract from BT Group plc Income Statement as at end of financial year 2008
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Section 1
Question 1

Mark Scheme

Table 1: Advertising spend on BT Broadband Option 1

Year Advertising spend £m Sales change (on previous year)
2006 £56 m +8 %

2007 £64 m +12 %

2008 £71m +8 %

2009 - -

Sales change +8 %

Change in advertising spend 7/64 x 100 = 10.94 % (1)

Formula: % change in demand (sales)/ % change in advertising (1)
=8/10.94 (2)

=0.73 (3 marks for correct answer)

Example Candidate Response — Distinction

Examiner Comment

This question requires the calculation of the advertising elasticity of demand. The candidate has clearly set
out the answer and shown the formula and working. This is best practice and should be encouraged. The
candidate achieved the correct response and accordingly all 3 marks are awarded. Candidates can achieve
part marks for showing the correct steps followed to achieve their answer and they should do this. Answers
that are written to two decimal places (rounded) are to be encouraged.

www.cie.org.uk/cambridgepreu




Cambridge Pre-U Example Candidate Responses

Example Candidate Response — Pass

)| 4Pemd -53°¢  me=F - -3 |
A haly. R

Examiner Comment

This answer correctly identifies the formula. This is awarded one mark. No other credit can be given. The
candidate should show all working as part marks are available.

Mark Scheme

Table 2: Average gross income of BT Broadband Option 1 customers

Product Average income Average income Estimated change in
2008 2009 (forecast) quantity demanded

BT Broadband | £31,000 £30,320 +3 %

Options 1

Estimated change in quantity demanded = +3 %

Percentage change in income = -680 /31,000 x 100 =-2.19 % (1)

Formula: % change demand/ % change in income (1)

=3/-2.19 (2)

=-1.37 (3 marks for correct answer*)

* |f the minus sign is not present in the answer the maximum mark should be 2 marks.

Example Candidate Response — Merit
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Examiner Comment

This question requires the calculation of the income elasticity of demand. As in Q1 (a) candidates should
show the formula and all working. This candidate achieved this but failed to include the (-) sign before the
answer. This is crucial for income elasticity of demand as it shows the product is inferior. Accordingly the
candidate was awarded 2 of the 3 marks available.

Mark Scheme

Knowledge AO1 Application AO2
2 marks 4 marks
Level 2 |2 marks 4-3 marks
Candidate shows clear knowledge of | Candidate clearly applies both elasticity
the elasticity concepts and values. values using clear case context.
Level 1 |1 mark 2-1 marks
Candidate shows some knowledge of | Candidate includes some application of
the advertising and income elasticity | elasticity to the case context.
concepts.

Advertising elasticity (AED)

e Definition of AED.

e Formula for AED.

e AED is inelastic.

e Numerical interpretation: 10 % increase in advertising spend leads to a 7.3 % increase in quantity
demanded.

* AED diagram may be used.

e Advertising expenditure by BT may need to be reviewed or BT may need to change its advertising
strategy.

« ARA

Income elasticity of demand (YED)

e Definition of YED.

e Formula for YED.

« Elasticity values suggest BT Broadband Option 1 is an inferior good (-1.37).

e Ifincome falls 1 % then quantity demanded rises by 1.37 % (elastic).

* YED diagram may be used

e BT Broadband Option 1 is the basic package and is an inferior good so in an economic slowdown
customers may choose this option.

e BT should plan for continued demand during the economic downturn and ensure sufficient supplies of
components and support for Option 1.

* The case data for income and change in demand are estimates/forecasts.

« ARA
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Example Candidate Response — Distinction
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Examiner Comment

The key to a successful answer for this question is to show excellent knowledge and interpretation of the
elasticity values and then suggest how the data could inform BT's strategic direction. In the first paragraph
the candidate shows relatively clear awareness of the meaning of the values. The candidate does not show
the income elasticity value as negative but the interpretation is correct. The answer could have been further
improved by a concise definition of the elasticity concepts. In the second paragraph the candidate attempts
to comment on the significance of the elasticity values with regard to the strategic direction of the company.
The use of relevant case data to support a point is to be commended. The candidate does make an error with
the advertising elasticity and refers to it as elastic when in fact it is inelastic but the explanation shows that
the candidate is aware of the meaning of the coefficient. The candidate correctly suggests that the advertising
budget could be vulnerable to cuts given the objectives of the company. The answer also reviews income
elasticity and suggests that a prolonged recession could be good for this particular product. The answer could
have been further improved by suggesting how the business direction could be influenced by this knowledge.

Example Candidate Response — Pass
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Examiner Comment

The candidate has clearly struggled with this question. The ideas are very confused and the candidate shows
a lack of basic knowledge of the concepts. The candidate does manage to get knowledge marks due to the
application of OFR. The candidate has attempted the answer and this is to be encouraged because they have
managed to accumulate some of the marks on offer. Section 1 of paper 2 is likely to feature quantitative

analysis and candidates should devote a suitable amount of revision to this area.

Mark Scheme

comparison sites).

ARA.

www.cie.org.uk/cambridgepreu

Knowledge AO1 Application AO2 Analysis AO3
2 marks 5 marks 6 marks
5 marks 6-5 marks
Level 3 Candidate fully engages with | Candidate fully develops
the case context. analytical points.
2 marks 4-3 marks 4-3 marks
Level 2 Candidate shows clear and Candidate links case material | Developed analysis of
precise knowledge of pricing | to his answer. arguments.
strategies.
1 mark 2-1 marks 2-1 marks
Level 1 Candidate offers a sufficient Candidate makes a limited Weak analysis of ideas;
definition/understanding of attempt to apply knowledge of | failure to develop points.
pricing strategies. pricing to the case study.
e Different categories of pricing strategy: Cost, Market-Customer, Competition.
e Potential pricing strategies could include mark-up, penetration or going rate.
e Recognition that consumers are usually more price sensitive in an economic slowdown
e Very competitive market.
e How does BT Broadband Option 1 fit into the full Broadband offering (Options 1-3).
e |s the Broadband package a stand alone product or bundled?
e What is the objective of BT for this particular package?
e What role does Ofcom play in determining pricing strategies?
e BT has excellent market share in the Broadband market (35 %).
e The pricing strategy could be determined by the ability to cut costs and therefore keep margins.
e Could the price sensitivity of consumers be lessened by excellent customer service?
e Strategies should be realistic given the circumstances of BT and the external environment.
e The price elasticity for the product is unknown.
e Perhaps a market or consumer based approach is best given that price comparison is popular (Internet
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Example Candidate Response — Distinction
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Examiner Comment

This answer is well structured and shows clear knowledge, application and analysis. The candidate
immediately tackles the question but it could have benefited from a brief definition of pricing strategies with
some examples. This process allows a candidate direct access to most of the knowledge marks available.
The candidate identifies penetration pricing as a potential pricing strategy. This is then analysed and the
candidate uses case context to support the reasoning. The candidate then reviews a second potential
pricing strategy (price skimming). The candidate again uses case data to review this suggestion and clearly
illustrates potential pros/cons. Finally the candidate offers a judgement. This is not necessary for this
question as the top assessment objective is analysis. This answer shows best practice by only considering
two potential pricing strategies. It could be suggested that price skimming is unrealistic in the economic
circumstances mentioned in the case but the candidate shows a logical approach to the construction of the
argument.
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Example Candidate Response — Pass
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Examiner Comment

This candidate makes an encouraging start and clearly shows some knowledge of pricing strategies.

This could be improved by a more concise definition, examples of pricing strategies and perhaps some
contextual detail. This response is very typical in its style. It does not fully develop the clear knowledge

that the candidate shows. The analysis and context is relatively superficial and the candidate would have
benefited from the statement ‘less is more’. This means the best responses fully develop points using all
the assessment objectives before moving on to another section of the answer. The use of line references

is a useful example of best practice but it must be relevant and explained. This answer finishes with a
discussion of the best strategy. Evaluation marks are not on offer but the answer does include analysis and it
is rewarded for this.
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Section 2
Mark Scheme
Knowledge AO1 Application AO2 Analysis AO3
3 marks 6 marks 8 marks
6-5 marks 8—-6 marks
Arguments are consistently Candidate fully develops
Level 3 o . )
based upon specific case analytical points.
context.
3-2 marks 4-3 marks 5-3 marks
Candidate shows detailed Candidate makes a good Developed analysis of
Level 2
knowledge. attempt to apply knowledge arguments.
to the specific case context.
1 mark 2-1 marks 2—-1 marks
Candidate shows some Candidate makes very limited | Weak analysis of the ideas;
Level 1 . .
knowledge. attempt to apply knowledge failure to develop points.
to the specific case context.
Evaluation Descriptor AO4 Marks
High Extensive reasoned judgement in answer and conclusion 8-6
Mid Good reasoned judgement shown in the answer and conclusion, or extensive 5.3
reasoned judgement in answer or conclusion
Low Weak judgement shown in answer or conclusion. 2-1
Question 2

Mark Scheme

e Current situation of BT.

* What are the parameters by which success is measured: profits, market share, share price?

« Different stakeholders may view success differently.

e The compliance with objectives (stated or implied) can be a measure of success.

* Relative success of BT compared to new rivals.

e Success can be judged relative to the prevailing economic conditions.

e Ratios/numerical formulae and manipulation may be used to support ideas.

* BT has experienced differing levels of success depending on the division and market.

e The success of BT is partially in the hands of the regulators.

« ARA

« Evaluation could include: A reasoned view with supporting evidence; what is success and from which
perspective; discussion about the extent of any success; reaching a decision highlighting that success
is relative, possibly transient and to some degree determined by external factors; recognition that
regulatory bodies have a remit to review companies such as BT, how is success defined? BT has many
potential success criteria such as environmental and shareholder value.
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Example Candidate Response — Distinction
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It is considered best practice to start the section 2 answers with a plan. The candidates have sufficient
time to do this and it helps to give the answer a coherent structure. This candidate discusses the concept
of ‘success’ (the key parameter) and this is typical of a good answer. The candidate then explains that in
this particular answer that success will be measured in terms of 3 key stakeholders. This gives the answer
structure. This framework is not the only framework that could be used by good candidates.
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This candidate has a clear structure to the answer and explains points using specific case context, theory
and analysis. Reasoned judgements are made in the answer but these could have benefited from further
elaboration or specific case evidence to support the views presented. Candidates should be encouraged
to evaluate throughout the answer and not just at the end. Candidates should also try to support their
answers using data from the case. Very few candidates engaged with the data given and it was rare to see
candidates manipulate case data effectively and accurately.

Example Candidate Response — Merit
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Examiner Comment

This answer does not have a plan but the structure is satisfactory. The answer does identify that the
definition of success is important but does not elaborate this sufficiently. This answer reviews success by
looking at typical KPI (Key Performance Indicators). The answer initially looks at market share and uses case
data to support this argument. The candidate also uses best practice by using analysis ‘trigger words’ such
as 'however’ and ‘on the other hand’. The analysis is relatively superficial and would benefit from greater
depth and perhaps the use of supporting theory/concepts. The candidate shows glimpses of evaluation in
the answer and more consistently at the end. The candidate could benefit from making judgements and then
giving supported discussion using a mix of case context and business theory/concepts.

Example Candidate Response — Pass
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Examiner Comment

This candidate gives a list of criteria to judge success but some of them are very vague and difficult to
quantify such as ‘honest’ and ‘efficiently lean’. The candidate then uses a ratio and this is good practice.
Unfortunately the calculation alone is not the key source of credit. Candidates need to fully explain the
relevance of calculations used and how they help analyse the question at hand. This candidate is vague
in the main paragraphs and any context is superficial. The answer shows glimpses of all the assessment
objectives but fully develops few.
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Question 3

Mark Scheme

* Question mentions a prolonged economic slowdown, so the strategy needs to mid to long term.

e The slowdown will be more severe in some markets and BT may concentrate on the more robust
markets.

e The slowdown in growth may be accompanied by falling interest rates (inflation depending). This may
make borrowing for potential capital investment cheaper.

BT may need to be very price competitive as this is important in a downturn.

e The services that BT provides could be viewed as relatively robust, even in a slowdown.

e It may see a large fall in demand for its premium products.

» BT will need to closely monitor the actions of its competitors or try to lead the market.

e BT could consider cost cutting to preserve profitability.

e BT could increase diversification or concentrate on its most profitable areas.

BT may cut its dividend to enable further investment.

e BT may try to grow revenues in new areas of telecommunications or other aspects of new/low exposure

markets.

BT may try to reduce the impact of the slowdown by keeping/improving its excellent customer service
record.

e BT may seek regulatory approval to increase the costs of using its infrastructure.

« ARA

« Evaluation could include: A strategic response is essential: how deep is the economic downturn; are
BT'’s core products highly sensitive to falling incomes; what are the core priorities and which elements
of a strategy are required in the short term-long term? Potential benefits of a slowdown could be
incorporated, such as the potential demise of competitors; focus on cost savings giving rise to long term
efficiencies.
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Example Candidate Response — Distinction
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Examiner Comment

Questions that require a ‘strategy’ are likely to be a common feature on this paper. Accordingly candidates
need to be aware of the specific demands of this type of question. Answers must be a coherent, step by
step response to the particular parameter of the question. A series of unconnected ideas is clearly not a
strategy.

This response concentrates on the possible strategy of cost minimisation and continued emphasis on
customer service. The potential of these strategies is scrutinised in great detail with a blend of relevant
case material, theory and analysis. The candidate also clearly evaluates at the end of the answer and makes
judgements in the main body of the answer. The candidate does use the example of ‘John Lewis’ to support
the answer. These 3rd party examples can sometimes be useful but the core example must always be the
case study business. This is clearly a very strong answer.

Example Candidate Response — Merit
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Examiner Comment

Candidates should be encouraged to include plans for questions in this section of the examination. This
answer makes a good start by defining the term ‘recession’. The candidate also identifies that potential
strategies can be financial and non-financial. The answer starts its strategic emphasis with a discussion of
cost minimisation. This is reviewed with limited context and analysis. Pricing strategies are then reviewed
followed by non-pricing strategies. The elements seen in the answer could potentially form a strategy but the
candidate must link the ideas in a logical order with an explanation of the order and priority. The answer is
not very evaluative in nature and this is a key skill if candidates want to access the very top marks available.
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Example Candidate Response — Pass
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(10)

This response starts with a good definition and this is to be commended. The answer is relatively strong in
terms of knowledge and context but quite weak in terms of analysis and evaluation. The answer offers some
strategic content about pricing and cost reduction but these are presented without a coherent and logical
explanation as to why they are the best strategies or in what order they should be implemented. Candidates
should be reminded that strategy questions have specific requirements in terms of content and structure.

Examiner Comment
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Question 4

Mark Scheme

* What are the types and levels of customer service that customers want (market research)?

e Review customer service measures of competitors.

* Reputation for good customer service could be promoted by highlighting awards such as the Reader’s
Digest award.

e Make sure customer service is used as a Key Performance Indicator (KPI).

* In house training-costs?

*  Monitoring of customer service via feedback or taped customer service conversations.

e Good customer service can reduce costs by getting issues resolved first time’.

* Poor customer service would have its own costs, such as customers leaving BT.

e Costs could be reduced in other areas apart from customer service.

e |s there any scope for cost reductions in customer service when customers could view this as a USP for
BT?

« ARA

e Evaluation could include: Is cutting costs necessarily going to impact on customer service; does
customer service or cost reduction have the greater strategic importance; cost reductions can be made
to other areas such as Global Services; to what extent is customer service a distinguishing feature for
BT, what is the extent of any cost cuts?
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Example Candidate Response — Distinction
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Examiner Comment

This is a very well structured long answer. It uses relevant case context to support the analysis and

K3 pe AT €3

&

combines this with excellent basic business knowledge and grasp of core theories. The answer is also very
balanced and weighs up the competing arguments in a thorough manner. The answer is clearly evaluative
and reasoned judgements are discussed in detail. This was a potentially difficult question because the ideas
of cost reduction and improvement of quality are difficult to conceptualise and requires the linking of diverse

aspects of the specification.
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Example Candidate Response — Merit
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Examiner Comment

This answer has strengths and weaknesses. It would benefit from using more case specific context to
support the views shown and by including a broader use of core theories/concepts. The use of TQM

was useful in this particular response. The main weakness of this answer is the lack of evaluation. This
assessment objective attracts 8 of the 25 marks on offer and is a key determinant of a candidate’s success.
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Example Candidate Response — Pass
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Examiner Comment

This candidate has attempted to answer this question but the assessment objectives are only superficially
covered and the answer fails to develop any of its points in detail. The answer has started by trying to define
the key words in the question and this is to be encouraged. Candidates should try and avoid words such as
‘impossible’ in the answer. The candidate fails to grasp how the simultaneous achievement of cost reduction
and improved quality of service are possible, if somewhat difficult to achieve.
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Paper 3 Personal Investigation

Mark Scheme

Assessment
Criteria

Description

Level Descriptors

Knowledge
(4 marks)

The Problem in
Context

Band 3: 4 marks. Includes a full and detailed description of the nature of
the business problem, why a solution is required, who it affects and future
implications of failure to solve the problem.

Band 2: 3-2 marks. Includes a full description of the nature of the
business problem and who it affects, demonstrating some understanding
of implications of failure to solve the problem.

Band 1: 1 mark. Includes a description of the business problem which is
lacking in detail and depth.

Band 0: 0 marks. No relevant material.

Application
(4 marks)

Methodology
— Quality and
Relevance of the
Research

Band 3: 4 marks. Clear evidence of relevant primary and secondary
research, including the ability to comment critically on methods used.
Band 2: 3-2 marks. Clear evidence of relevant primary and secondary
research, including the selection of appropriate research methods.
Band 1: 1 mark. Some evidence of primary or secondary research.
Band 0: 0 marks. No evidence of research.

Analysis
(24 marks)

Analysis of
Research Findings
and Use of
Business Theory

Band 5: 24-21 marks. Substantial analysis of the data, selective use of
various written and numerate techniques to identify causes and/or possible
solutions and showing judgement in technigues used. Comprehensive
and accurate use of relevant business theory throughout.

Band 4: 20-16 marks. Substantial analysis of the data using various
written and numerate techniques to demonstrate insight and depth.
Accurate use of relevant business theory throughout.

Band 3: 15-11 marks. Some analysis of the data using written and
numerate techniques, showing understanding but lacking insight and
depth. Accurate use of relevant business theory throughout.

Band 2: 10-6 marks. Some analysis of the data using written or numerate
techniques, showing understanding but lacking insight and depth.
Accurate but limited use of business theory.

Band 1: 5-1 mark. Limited analysis of the data using written or numerate
techniques, showing understanding but lacking insight and depth. Limited
use of business theory.

Band 0: 0 marks. No relevant analysis or theory.

Evaluation
(28 marks)

Conclusions,
Recommendations
and Evaluation

Band 5: 28-25 marks. Appropriate conclusions and recommmendations
fully justified by the evidence, showing awareness of wider issues and
their implications for the business concerned. Detailed evaluation of the
strengths and limitations of the investigation and suggested solution(s).
Band 4: 24-19 marks. Appropriate conclusions and recommendations
fully justified by the evidence. Detailed evaluation of the strengths and
limitations of the investigation and suggested solution.

Band 3: 18-13 marks. Appropriate conclusions and/or recommendations
partially justified by the evidence. Some evaluation of the strengths and
limitations of the investigation.

Band 2: 12-7 marks. Some conclusions and/or recommendations
partially justified by the evidence. Limited evaluation of the strengths and
limitations of the investigation.

Band 1: 6-1 mark. Limited conclusions and/or recommendations.

Band 0: 0 marks. No conclusions drawn.
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First refer to Descriptor Table for Communication Assessment Criteria.
Band 8: 40-36 marks. Reports in this band must also clearly communicate
(valid) limitations of the investigation. There will be little (or no) information
that is not directly relevant to the candidate’s subject of investigation. To
reach the top of the band the report will communicate the candidate’s
substantial depth of understanding of the relevant business theory, the
problem investigated and its solution (or potential solution), and the report
as a whole will be convincing and comprehensive (allowing for the upper
limit of 3500 words).
Band 7: 35-31 marks. To reach the top of the band the report will contain
little (or no) information that is not directly relevant to the candidate’s
subject of investigation.
Band 6: 30-26 marks. To reach the top of the band the recommmendations
must be convincing by being based on sound reasoning from the theory,
Communication Presentation of data and/or results.

(40 marks) Report Band 5: 25-21 marks. To reach the top of the band the reasons for
choice of research methodology must be communicated clearly and the
recommendations must be realistic.
Band 4: 20-16 marks. To reach the top of the band the bibliography must
be logically organised and include details of most or all the references
cited in the main body of the report.
Band 3: 15-11 marks. To reach the top of the band there must be relevant
use of tables, diagrams and/or other illustrations.
Band 2: 10-6 marks. To reach the top of the band the report must
communicate the candidate's understanding of research methodology
and list some references.
Band 1: 5-1 marks. To reach the top of the band there must be
recognisable objective(s), data and conclusions.
Band 0: 0 marks. Poorly expressed ideas. Many errors in grammar,
punctuation and spelling.

Note: the following Investigations have been anonomised and the company names have been changed.
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Example Candidate Response — Distinction (D1)

Company X
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Examiner Comment

The context of this Investigation was to consider methods by which a “fair trade’ textiles manufacturing
company may expand its product portfolio in order to appeal to the teenage market. The report was very
well structured and focused on answering the questions posed by the Investigation.

Section 1 - Knowledge. The Problem in Context

Band 3 - 4/4

This report included a detailed account of the business problem, who is affected and implications if it is
not solved. Especially relevant to this specific problem was the observation that if sales do not increase,
redundancies may occur, which will mean the women who make the products will probably return to
prostitution, which works directly against the company’s mission statement.

Section 2 - Application. Methodology — Quality and Relevance of the Research

Band 3 - 4/4

This report contained clear relevant primary and secondary research, which had been carefully selected

and commented on critically. Especially detailed and relevant to this specific research was the account and
critique of the survey which outlined the way in which the writer tried to avoid bias — by random questioning,
but still observing the possibility of unrepresentative information due to ‘optimistic’ responses. As to
secondary research, the ‘business library research’ in Appendix 2 was very well chosen and directly relevant
to the problem as the Keynote extracts related to ethical consumerism and teenage fashion.

Section3 - Analysis. Analysis of Research Findings and Use of Business Theory

Band 5 - 22/24

The analysis in this report was detailed, focused and very selective in terms of techniques. Especially
insightful was the method used and commented on to predict potential sales using data from primary
research customer survey and secondary population data. Business theories were accurately and
relevantly used throughout. It was particularly interesting to see relevant use of Porter’s Five Forces in the
consideration of the company’s aim to maximise sales.

To reach the top of Band 5 and achieve full marks in this section, more detailed analysis of the causes of the
problem could be included, such as changing corporate demand for ‘giveaways'.

Section 4 - Evaluation. Conclusions, Recommendations and Evaluation

Band 5 - 25/28

The evaluation section in this report was very comprehensive, including conclusions, recommendations
and limitations. Conclusions were very realistic and entirely based on evidence collected in the research.
Especially creditable was the evaluation of two possible strategies, both of which would increase sales. It
was useful to relate solutions back to the aim to provide more employment for women in India. Also, the
recognition of the limitations of an investigation which is largely theoretical in nature, despite being based
on a real business problem was insightful, as was the observation that a projection based on the whole UK
population was unrealistic, given capacity. The wider issues relating to the business’ fair trade philosophy
were also included in detail, for instance the fact that wages to producers cannot be reduced as a cost-
cutting measure.

To reach the top of Band 5 and achieve full marks, further sources of research could have been
recommended, also some appreciation of present and potential competition within this sector, for instance
from similar products made in other developing countries such as Africa.
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Section 5 - Communication. Presentation of Report

Band 8 - 36/40

This report was excellently structured and fully ICT based, including clear objectives, integrated tables and
diagrams, page numbering, logical index and bibliography. Appendices were also indexed so it was very
easy for the reader to follow. The language used was concise and the business terminology accurate and all
research, results and conclusions were clearly explained. Especially creditable was the concise nature of the
report, with excellent use of appendices, all of which were clearly explained.

To reach the top of Band 8 and gain full marks, the recommendations section could have been more closely
linked with the research and analysis. The strategy of using famous designers without incurring major costs,
added a hint of un-realism to this section and this could have been explored in terms of how such individuals
may be induced to be involved. Referencing throughout the report and in the bibliography could also have
conformed fully with the Harvard referencing system. The use of first person ('l' or ‘we’) should be avoided
in these reports.

Total mark = 91/100
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Example Candidate Response — Distinction

Should X  Kennels invest in the
replacement of its Cattery Building?
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The Problem in Context

Introduction to the Firm

X Kennels provides tertiary sector services comprising: dog, cat and small animal
boarding; dog training; canine hydrotherapy; dog grooming; and pet supply retailing. X
employs 15 people, two thirds being full time workers. From 1/10/2005 to 1/10/2008, the
average annual Turnover was almost £250,000.

In Figure 1, X is at B. Local Catteries are highlighted in red, but this includes very small
catteries or ‘Pet Sitting’ Services. The black circle marks the area in which X
collection/delivery service operates. [Map removed]

Nature of the Problem

Boarding demand is dropping, as ‘over a third (35%) of [the population] admit that the
recession has prevented [them] from booking a main holiday in the next six months” McCoy
(2009)". Accordingly, June-August boarding Sales have dropped 25% between 2007 and
2009. However, simply reducing capacity is not an option the business favours, as in August
there is always over a week of full capacity utilisation.

Equally virulent a problem is one that has been creeping for years. Changes to the Animal
Boarding Establishments Act in 1995 that allow the local authority to adjust license
requirements mean as of this year X . will no longer be able to board 2 cats in 1 pen, as
pen sizes are currently too small.

Additionally, the aging cattery building now sits below standards maintained by competitors
in terms of pen size and materials used. Maintenance costs are rising, especially after the
harsh winter.

Why a solution is required

The inconsistent demand is a particularly prevalent issue in the cattery, as this February marked the
first day in 20 years of business that the cattery had no paying occupants. X owners and
employees suggest that this is symptomatic of a long-term trend in consumers opting for virtually
free feline care by friends and neighbours. An ideal solution for X would be one that increased
profit by stimulating demand and/or reducing costs, while keeping full-capacity utilisation to an
absolute minimum.

Affect on Stakeholders

Currently, a portion of X customers will be disappointed, as they were previously able to
board together 2 or more of their cats, giving them peace of mind and a discount. Increasing average
costs will lead to lower profits for the owner and/or higher prices for customers. Employees working
in the cattery have to deal with the effects of increasing disrepair.
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Implications of Failure to Solve

The inability to provide for 2 cats in 1 pen will worsen the over-capacity utilisation in summer. X
was previously charging 81.8% more for the same use of space, and less use of heating (as pens are
individually heated). Seasonal variation will probably continue to increase, as the deterioration
(Figures 2-4) of the cattery will not attract as many new customers for quieter times of the year. This
issue would only be exacerbated by increasing costs related to the deterioration, leading to higher
prices, and eventually, lower profits.

Figure 1

Figure 3 Figure 2
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Objectives

1. To identify the problem, its relevance, and the stakeholders affected. Describe the
problem and implications of failure to solve.

2. Outline the research methods used. Assess the relevance of the primary and
secondary research methods proposed in order to establish their suitability for
addressing the problem.

3. Display the research results. These should be clear and specific to solving the
problem.

4. With reference to the research results, examine 4 main business theory areas
(Marketing, Accounts and Finance, Operations Management and People in
Organisations) and fully analyse the problem and the logistics of potential solutions.
Other relevant areas, such as the Business Environment, should be considered
throughout this analytical process.

5. Draw conclusions from case research and the analysis of business theory, and link
these conclusions to the objectives.

6. Provide a feasible, cost-effective set of recommendations to the firm of the
strategies that will best suit their needs.
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Research Methodology

Primary Methods

In order to make sense of the effect an investment will have on demand the most logical
step was to take a sample of the views of consumers. A pilot questionnaire was produced,
and then altered after review to provide a set of specific, measurable options rather than
simple yes/no responses, and to make the questionnaire more user-friendly. It is likely that
responses will contain some bias, as in the presence of the researcher, pet owners may feel
obliged to appear more concerned at non-material factors.

However, the consumers important to the focus of the investigation are cat owners in the

local area, and a random sample on the street would not be an effective use of resources.

Marshall (1996 v13: pp522) outlines the following technique:
Judgement sample: Also known as purposeful sample, this is the most common
sampling technique. The researcher actively selects the most productive sample to
answer the research question. This can involve developing a framework of the
variables that might influence an individual's contribution and will be based on the
researcher's practical knowledge of the research area, the available literature and
evidence from the study itself.?

With that in mind, | took samples of cat owners at local Veterinary Surgeries. However,

there may be bias here, as most of those sampled had their pets vaccinated a requirement
for feline boarding. On the other hand, Turner (2008) states that ‘vaccination rates are no
lower in areas where the local authority does not require boarding establishments to check
all animals have current vaccinations.”

For a sample size, a total of 50 individuals, split equally between customers at 2 veterinary
surgeries was deemed the most appropriate considering the constraints in carrying out the
survey.

Secondly, | interviewed the 2 X employees with the most cattery experience. They
were asked a number of pre-determined questions, with the interviewer adding auxiliary
guestions where appropriate, such as when more feedback on a particular topic would be
useful. The aim was for insightful information about the business problem. Bias in this part
of the investigation may come from the employees’ awareness of the management’s access
to their answers, as it may be harder for employees to feel able to admit poor working
methods or areas in which they believe improvement is required. Also the information given
may be simply anecdotal and should be considered with reference to other available data.

Secondary Research

For desk research, the 2 main sources of information have been ONS and Kennel and
Cattery Management Magazine (KCMM). This provides both information specific to the
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business, and general population data. The population data is, however, national, and so
may not be as relevant as local census data. On the other hand, such local data is in many
ways limited, with censuses taking place every 10 years, and much of the data for the local
area is not as up-to-date as ONS. The information in KCMM is both statistical and
journalistic. It is important to consider that any bias in their research is unknown, and the
relevance and credibility of information used must be measured.
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Marketing

Income Elasticity of Demand

To determine if the current downturn in demand for cat boarding represents a long-term
trend or just a cyclical variation as a result of the recent recession, it is useful to assess the
YED, using demand data from the past 5 years. The data in Chart 1 displays a slight upward
trend in demand, although the 8 month moving average shows that in the past 2 years there
has been a general decline in demand compared to previous years.

In Table 1, the numbers

confirm that there was an

annual decrease in

demand from 2007 to

2009. Furthermore, when

this demand shift is

divided by the change in

Real Income provided by

the ONS (2010)* °, results

show a YED greater than 1,

steadily increasing from

2006-2009. This indicates

Chart 1 that it is a normal good
and the situation will

improve with the economic climate, however the annual increases in YED suggest that there
is also a second factor present,

Table 1 slowing demand, which may be

Month | 2005 | 2006 | 2007 | 2008 | 2009 | endemic of growing consumer
Jan 50 56 38 45 42 distaste for impersonal cat boarding
Feb 42 51 54 56 47 services.
Mar 47 34 36 49 33
Apr 68 70 73 76 72 Pricing
1 . .
May 67 67 83 3 6 Should X build improved
Jun 88 | 85 92 65 65 -
Jul 77 76 39 76 39 cattery facilities, the management
Aug 129 | 133 135 135 130 would be inclined to charge a
Sep 91 98 83 75 89 greater amount for the added
Oct 81 76 84 74 80 luxury. Table 4 shows current
Nov 42 40 48 >0 23 pricing of local boarding catteries,
Dec 65 73 56 48 66 , , , , ,
o with a simple, in-house, brief daily
Demand % 0.2% | 4.0% | -7.7% | -0.9% T ]
Change pet sitting service shown as a
Real Wage % 0.19% | 2.64% | -4.21% | -0.45% | control. More personal pet-sitting is
Change benchmarked at around £12 per
YED
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day,and X  would be unlikely to be competitive with them if they set prices any higher
than £10 per day for cats. A rebuild, will however, create possibilities for providing for 3-5
cats sharing, which is currently not possible.

The current YED of 1.92 for the

Table 2 cattery means that demand should

Fig. 1 enter an upward trend as Real
Cattery 1Cat 2Cats 3Cats . . . .

Ref. Income rises, with an increase in

B Willows £6.00 £11.00 nla demand of up to 19.2% if incomes

rise 10%. However, other factors
bringing down demand as real
C Comp?2 £6.25 £11.00 £16.00 incomes fall may be deceptive, and
D Comp3 £6.50 £12.00 n/a the actual figure is likely to be
closer to the pre-recession figure of
J Comp 4 £6.50  £9.25 £12.00 12.5%. Either way, in the case of a
rebuild X  needs to set pricing

so as to make the most of demand. Currently, X is price-competitive, and if using

going rate pricing could increase prices by 8-10% in order to improve revenue. However, the
research shown on page 13 indicates that cost is a major consideration of consumers. This
suggests that to retain a competitive edge, X would be wise to keep prices at their
current level.

If capacity is lowered, the long-term effects of turning away customers during August could
mean losing out on demand throughout the year. One possible step for X  to take
would be to provide exceptionally competitive prices, such as those of Competitor 1 in Table
2, to those repeat customers who book 3 months in advance. This would encourage
customer loyalty, and allow X  to plan more effectively.
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Accounts and Finance

Cost of Project

The capital cost of the potential rebuilding project is perhaps the most important
consideration in decision making, and the return on the investment needs to be calculated
and considered. In table 4 below are the best quotes for various layouts of the new cattery,
with estimated additional costs not covered by the building firms.

Table 3
Company | Estimated Cost | No. of Units Strengths Weaknesses
This option includes a
This company very Iarge_amount of
wood, which may need
are the only
Pet Homes | £75,000- 30-40 ones offerin regular replacement,
(Wood) | £100,000 ne & | and fall short of new
digital .
Environmental Health
thermostats. . . .
regulations in coming
years.
As above, and
the galvanised | While maintenance
steel in the costs should be almost
Pet Homes | £95,000- 30-40 current cattery | nil in comparison with
(Steel) £125,000 isin fine other constructions, this
condition, and | is the highest capital
costs could be | cost.
cut by re-use.
Very high Even with the most
li fficient | here i
Canine £66,000- quality . g icient layout, there is
25-30 construction, likely to be a drop of
Kennels £80,000 . .
well exceeding | capacity due to the
regulations. large pen sizes.
PVCu: Exceeds
standard on PVCu construction
Peigree | £90,000- 2035 | soactre | with pare of eutrent
Pens £105,000 ' par
Smaller pens cattery in order to cut
allow smaller costs.
capacity drop.

While the first option would not be acceptable in the long term due to the wooden
construction, the company offers an alternative, which is leasing. A one-off fee of £18,000
would be required, after which X would have to pay £640 a week. This however,
could create cash-flow problems, as while the leasing would more than pay for itself in the

middle of summer, it would drain money from the business during much of the year. In

10
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reality, the most cost-effective offer is that of Pedigree Pens, which offers very low
maintenance construction, and will have a very long life. The other options would not have a
great saving in average costs, and the re-sale value would not be as high. However, very
little of the current cattery structure could be recycled to cut costs, so dropping below the
estimated cost is unlikely.

ARR/NPV
Table 4
. Present Value of In table 5, | have calculated the ARR and
Net Profit . )
Year Income at: NPV of the project over 7 years, using
p.a.
5.0% 2.5% the quote from Pedigree Pens, and
0 | £89,000.00 | £89,000.00 | £89,000.00 assuming 35 pens are built. The profit
1] £16,240.00 | £15,466.67 | £15,843.90 prediction is assuming construction in
2 | £16,483.60 | £14,951.11 | £15,689.33 late 2011, starting at £16,000 and
3 | £16,730.85 | £14,452.74 | £15,536.26 .
forecast to increase at a rate of about
4| £16,981.82 | £13,970.98 | £15,384.69 15% (th ; | .
5 | £17,236.54 | £13,505.28 | £15,234.59 5% (the current annual increase in
6 | £17,495.09 | £13,055.11 | £15,085.96 | ~demand). Both ARR and NPV suggest
7 | £17,757.52 | £12,619.94 | £14,938.78 that as an investment provides far betteg
NPV | £9,021.83 | £18,713.52 returns than current Reuters (2010)

base rate forecasts of 2.25% by 2012
However, this does not consider the

ARR 18.36%

capital cost of £105,000.

availability of funding for the original

Sources of Finance

As leasing would be inappropriate for the needs of X in order to make the project a
reality the full amount will have to be secured in the long term. Appendix Table 2 shows the
Balance Sheet for the beginning of 2009. With a gearing of 70.6%, in the current economic
climate it may be difficult to borrow more money. However, if the project was to be
undertaken in 5-10 years, when retained profits could subsidise the amount required,
and/or the gearing ratio has improved, the feasibility of securing the funds necessary for the
rebuild steadily increase. Lloyd’s TSB’s Business Banking service allows loans of £100,000 at
rates individual to each business, at around 7% APR. Over 7 years, the project would
continue to provide a greater return than the cost of the loan, if the estimates of the
business are correct. After the loan was paid off, the cattery building would begin providing

regular income to the owners at a far higher rate.

11
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Operations Management

Capacity
Currently, every single August has a period of full-capacity utilisation. This issue was raised

in the interview with the owner, and is a problem to any business, but the specifics to
catteries are summed up by Radev (2009):

“Most people tend to plan their holidays with their own flights and accommodation
first, before they worry about their cat’s accommodation. What’s more, if they do have to
book elsewhere there’s always the possibility that they will then re-book their next holiday
with the other cattery and we will have lost their business for good.””

The issue this project raises is that the number of pens outlined in the quotes above
represents a capacity reduction of 20-50%. Chart 3 shows that the only time a 20%
reduction would be an issue is in the month of August. However, with much of the year
being well under-capacity, it stands to reason that reducing overall capacity would reduce
costs, as for example, currently the cattery corridor is heated in halves, meaning 50% of the
cattery is heated in February, when capacity utilisation has been as low as 4%.

On the other hand, in August 2008, of the 50 pens occupied daily, approximately 17 were
occupied by 2 cats. With this service no longer being offered, capacity will be drop by
around 34%. Therefore it should be considered that building pens that will once again
provide this service will offset some capacity reduction.

One method of dealing with these issues is suggested by Radev (2009) in KCMM. They
outfitted an existing room as an ‘overflow room’ for summer. When full capacity overlapped
by a couple of hours or days they were able to temporarily increase capacity. While space is
at a premium at X . for permanent buildings, a more simple construct could be produced
for less than £2000.

Managing Projects

In order to build a new cattery, some capacity would have to be removed during
construction. However, if the project was begun in December of a given year, and
undertaken in 2 halves, with half the cattery remaining open at any one time, as long as the
project was completed by Easter, X could avoid disruption to their ability to supply
the given demand.

12
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Figure3 1P Table5J

Task Duratio Task Duration
n (weeks)
(weeks)
A | Delivery of 1st %2 components 4 | F| Outfit new 1st % as 2
required
B | Dismantle original 1st % 2 | G| Dismantle original 2nd % 2
C | Level 1st % foundations 1 | H| Level 2nd % foundations 1
D | Construct new 1st % 6 | | | Construct new 2nd % and 7
kitchen
E | Delivery of 2nd % components 4 | J | Outfit new 2nd % as 2
required

The above CPA diagram would be useful to follow, as cash flow can be better controlled by
only ordering the second batch in week 9, and it creates a plan to ensure capacity is only
reduced for the period demand is low. However, the existence of the CPA does not
guarantee the project will be completed smoothly. A hold-up on the critical path due to
incorrect estimates could mean cancelling bookings of those who had booked in advance, if
the project was delayed into the Easter holiday period. This could have a grave effect on
customer loyalty.

People in Organisations

There are not many important Human Resources considerations with this project. Currently,
in terms of motivation, X employees receive fringe benefits of free boarding of
animals residing in their household, subject to availability. Currently, there are more cat
owners than dog owners on the payroll and consequently they are likely to be slightly more
motivated by the opportunity to board their animals in a better environment for no extra
cost. Additionally, employees may be motivated by the non-monetary factors surrounding
the building of a new cattery. For example, as the new cattery should provide a warmer,
easier-to clean environment, the number of hours spent in the cattery could be more evenly
distributed between employees, adding an element of job-rotation.

13
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Conclusions

The most beneficial long-term solution for X is probably to rebuild. A building by Pedigree
Pens will depreciate slower than the current building, so could remain a valuable assetto X
for more than 20 years. The building will also continue to make returns higher than the current
construction, simply due to lower average costs. After the loan is paid off, a rebuild would allow

X to remain price-competitive in the long term, an aspect the research suggests is most
important. The determining factor in the eventual success of a rebuild is how it affects demand. The
marketing analysis suggested that demand will improve with the economic climate, and exceeding
industry standards and keeping prices low are also likely to help demand.

The rewards are high if demand does increase; however there are many drawbacks. Should demand
be any lower than predicted in the long term, this could place X  in severe cash flow problems
if loan repayments were to exceed gross profit from the project. With unlimited liability, this would
place the owner in an unsatisfactory position. Another problem is that the necessary loan of
£100,000 (the remaining £5,000 covered with retained profit) may be difficult to secure, as the
business would then have a gearing of over 100%.

The solution to these issues may be simply to wait. Afterayear, X  will be in a better position
to judge how the recession has affected demand, assuming economic conditions improve. Also on
that assumption, banks should become less risk-averse, making securing a loan easier.

A lower risk solution to the problem would be to renovate the existing cattery. Replacing old
materials and removing pen dividers to create 2-cat pens could be done to a budget of up to £5,000.
The resulting loss of capacity could be countered with an ‘overflow room’, bringing additional costs
of £2,000, which could be constructed in time for August 2011. This would require only the use of
retained profit. However, the risk would be in whether customers would be put-off by the
temporary building. Research suggests that consumers find cost and convenience most important,
and the case evidence from Radev (2009) confirms this. The main drawback compared to a rebuild is
that it extends the working life of the cattery by up to 10 years, and also may be less attractive to
customers.

An even cheaper option would be to phase out the use of the cattery. This would allow resources to
be allocated elsewhere. However, this option still has risks. The removal of the services provided
could damage demand in other sections of the business, such as dog boarding, as currently a large
number of customers overlap between sections of the business, and a generally lower number of
customers would lower brand awareness.

14
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Recommendations

1. Complete Rebuild

If demand picks up by late 2011, X should look at securing a fixed-rate business loan of
£100,000 from Lloyds TSB at approximately 7% APR. They can then begin the rebuild project
using Pedigree Pens in December 2011, finishing at or before Easter 2012.

2. Renovate Existing Construction and Construct Overflow

If unable to secure the business loan, or the risk is simply deemed too high, X . could
renovate the current cattery after September 2010 or 2011, and build an overflow facility, at a
total cost of £7,000 in retained profits.

3. Repair and Replace Current Parts

If unable to secure the business loan, and unable to find excess space for overflow, X
could use retained profits to renovate the current cattery for up to £5,000.

4. Decommission Cattery

After the coming summer, X  could slowly reduce expenditure on the cattery before winter
2011, when average variable costs are higher due to heating, eventually phasing out the cattery
service.

15
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Appendix

Pilot Questionnaire Original Questions

3. Are you likely to require care for your pets by any of the above means in the next 6
months?

a) Yes
b) No
5. What factor, above or otherwise, would you consider most important in your decision?

Results of Research

Interview 1 — Business Owner

DP (Interviewer): What would be the main aspects of a rebuild you would find useful?

M (Interviewee): There are a couple of ways | think we could change the layout to
decrease the hours staff spend working in the cattery each day, and replacing the current
surfaces with easier to clean materials would help with this, as well as with overall
cleanliness. We could also bring the cattery up to the new legal size requirements for 2 or
more cats, and make the cattery more appealing to customers with more modern pens,
much like those at smaller, competing local catteries.

DP: If the cattery was rebuilt with larger pens, this would lead to a drop in capacity. What
would be the issues surrounding this?

M :I'd prefer to keep the number of pens as high as possible. For much of the year, it
wouldn’t matter. At the moment, for example, we’ve only got 12 cat pens in use. However,
in summer we get so busy we are turning cats away left right and centre as it is.

DP: So do you feel that a drop in capacity in summer could have consequences for the
whole business?

M : Oh, definitely! We get a lot of customers who bring their cats and other pets too. If we
couldn’t board their cat, | don’t see people being keen to put their dog in one kennels and
their cat somewhere else. And so we risk losing those customers for good.

DP: If you weren’t to rebuild, what would be the consequences in the long term?

M : | think we could carry on for a few years. However, people are going to keep wanting to
board 2 cats together, and our competitors currently offer that service but we will have to
stop. We could ‘knock through’ several pens, as a relatively cheap fix. The building may be
reaching the end of its lifetime, it is 20 years old now, the roof leaks, the floor is eroding and
some of the pipes and heaters don’t work anymore. It also gets really cold in winter, even in
the heated pens.

16
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Interviews 2/3 — Staff Members

DP: Do you feel that a rebuild would improve your ability to do the job quickly and
effectively?

T: | suppose extra storage in each pen would make it a lot quicker to serve customers, at
the moment it takes ages to find the cat carriers in the kitchen. That would help us cope at
busy times during the day far better. It would also give us far more room in the kitchen.

R: The wooden shelves the cats have at the moment have to be scrubbed, so yes, if we had
APEX ones we could just quickly wipe them clean.

DP: From the reactions of customers you show round, would you say larger, better quality
pens would make a big difference?

T: 1 don’t know. Some seem to think everything is a bit basic, but at the end of the day they
seem more impressed by our enthusiasm, and we are probably the most convenient place
to come, everywhere else is so far out, or so small they are constantly full.

R: | think it would make a big difference. We get a lot of ‘fussy’ cat owners, far more than
with dogs. I'm sure if people aren’t impressed, they will just look harder to find a friend or
neighbour to look after their cat while they are away.

Questionnaire

Appendix Table 1

Question | Response Frequency Percentage
Have used a cattery in the past 5 years 27 54%
i taki holiday in th Pet Sitter (Visiting home) 7 14%
taking a holiday in the next Boarding Cattery 15 30%
2 months, how would they be X 0
. . Home Boarding 2 4%
most likely to provide for pet - fami 529,
for duration of trip? Friends or family 26 °
Other 0 0%
Wh likely t ) In the next 2 months 12 24%
en next likely to require 3-6 Months 5o 44%
care for pets by above o
eans? 6 - 12 Months 13 26%
12 Months or Later 3 6%
In making pet care decisions, Average Score
to what extent do the Cost 2.26
following factors affect Comfort of Pet 2.66
decisions? (1=Most Important Convenience 2
to 5=lrrelevant) Safety of Pet 3.16
17
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Research
Explanatory Notes

. . . The ‘Average
Iftaking a holiday in the next 2 months, how would they ,
. R . . Score’ quoted
be most likely to provide for pet for duration of trip?
for the last 4
values in
B Friends or family Appendix Table
B Boarding Cattery 1 are the total
= Pet Sitter (Visiting home) scores from all
B Home Boarding respondents
= Other divided by 50,
the total
number of
Appendix Chart 1 respondents.
1 = Crucial.

2 = Very Important.

3 = of some
importance.

4 = |Less Important

Open Question Responses
5 = Irrelevant

Other
So a value of 2.66
Sharing
suggests that on the
Comfort whole, those
safety = Frequency questioned
Conveninece considered comfort
‘important’.
Cost
o} 5 10 15 20

Open Question: “If you had to pay for pet care services while you were
away, what factor, above or otherwise, would you consider most
important in your decision?” Responses were grouped into 5 similar
responses (e.g. Price as Cost, Security as Safety). ‘2 or more cats being
able to share’ was the most common of the unexpected responses, and
is shown separately above as ‘Sharing’.

Appendix Chart 2
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Accounts
Appendix Table 2
Balance Sheet 2009
31st October 2009 £ £
FIXED ASSETS 272,446
CURRENT ASSETS
Stocks 2,500
Sundry debtors and prepayments 5,335
Cash at bank-deposit account 33,253
Cash at bank-current account 2,907
Cash in hand 4,095
48,090
CURRENT LIABILITIES
Sundry creditors and accrued charges 16,328

Capital Outstanding under HP obligation 3,667

19,995

NET CURRENT ASSESTS 28,095
NET ASSETS 300,541
FINANCED BY:
Capital Accounts
Mrs J Smith 94,167
Mrs M Jones -5,813

88,354
LONG TERM LIABILITY
Mortgage 212,187

__300.541
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Examiner Comment

The context of this Investigation was the problems faced by an animal boarding kennels due to the
deterioration over time of boarding facilities and falling sales due to the recession. Added to this is the
seasonal nature of the business and changing Government regulations relating to pen sizes.

Section 1 - Knowledge. The Problem in Context

Band 3 -4/4

This report included a detailed account of the business problem, who is affected and implications if it is

not solved. Especially relevant to this specific problem was the difficulty of no longer being able to board 2
cats in an existing pen and the over capacity utilisation that this will cause at busy times, not to mention the
dissatisfied customers who like their cats to share pens. The obvious potential implications of rising costs,
prices and falling business is clearly set out.

Section 2 - Application. Methodology — Quality and Relevance of the Research

Band 3 -4/4

This report contained clear relevant primary and secondary research, which had been carefully selected and
commented on critically. Especially detailed and relevant to this specific research was the account of the
judgment or purposeful sample of cat owners at local surgeries, although the comment was made that this
may not avoid bias as vaccination is a condition of boarding so these pet owners may be more likely to use
kennels. Secondary research was also specific, such as the use of KCM Magazine, although the comment
was made that this contains national data.

Section3 - Analysis. Analysis of Research Findings and Use of Business Theory

Band 4 — 19/24

The analysis in this report was based around income elasticity of demand and alternative solutions to
re-furbishing the cattery, as well as capacity utilisation and critical path analysis for the project. A wide
range of techniques were used accurately and commented on in context. A good example of this would
be the use of the critical path analysis to plan the project during a quiet time such as early December, but
the observation that project delay could cause major problems for customers with Christmas bookings.
Business theory was used effectively and accurately throughout.

To reach Band 5 ‘depth’ of analysis is the key. The candidate could use a more selective range of techniques,
finely focused on one area, for example investment appraisal using ARR, NPV and payback, comparing two
of the options. Key to this investigation must be the ability to predict future revenue flows and as such

the reasons for falling demand could have been analysed in more detail, as well as likely future trends. A
prediction of future revenue flows with and without the proposed alterations would also add depth.

Section 4 - Evaluation. Conclusions, Recommendations and Evaluation

Band 4 - 23/28

The conclusion section in this report is fully based on the evidence from research, but also introduces some
other options such as renovation or waiting for a year and re-assessing the situation. Recommendations also
suggest a range of options, depending on the ability to access a business loan.

To reach Band 5 and above, full justification of conclusions and evaluation of strengths and limitations of the
investigation is the key. The candidate could have focused more finely on one way forward for the business,
rather than suggesting a range of options without coming down on a final decision. Also there could have
been more emphasis on the strengths and limitations of the Investigation. In this case the strengths might
be access to first hand information from the kennels and customers. Limitations might be the difficulties in
isolating a single most important factor causing falling demand and therefore predicting future revenue flows.
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Section 5 - Communication. Presentation of Report
Band 6 — 30/40

The report has a clear structure which is easy to follow including an index, page numbering and references
throughout plus a concluding bibliography. Objectives are also clearly stated at the beginning and
conclusions are realistic, given the evidence.

To reach Band 7 and above, the evaluation section should include strengths and limitations of the
investigation. In this case, conclusions and recommendations could also have been clearer and more closely
linked with the analysis, for instance the need to carry out refurbishment at a time when fewest customers
will be negatively affected. Referencing throughout the report and in the bibliography could also have
conformed fully with the Harvard referencing system.

Total mark = 80/100
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